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TNPSC ORIGINAL QUESTION - 2021
TNPSC GROUP I PRELIMINARY EXAM 03.01.2021

If a simple pendulum with the mass of the bob as ‘M” has a time
period “T” then in the same pendulum another bob with mass 2M
replaces the original bob. Now time period is (it may be assumed
that the string attached to the bob has no mass)

a.2T b. TE c. T d. % e. Answer not known

M e Mens GarewiL @@ selaygeder (simple pendulum) simevey
Goryib T  eter 2 eenigl e SiSFHNenFelleT  oaFmEHewni(H
OTBBLIUGMST  SiHeT Hewm 2M o  wtpEps.  sBOUTEH  Si%Her
DIm6eVaCBHIHD  eTeTINTS  EHEHGW? (2MFBEG6WIML  FHTRIGD LD
BNBLBBSTS  SHHSHEOTLD)

a. 2T b. TE c. T d. % e. ol OxHfluwalevemev

Silicon is one of the best-known semi conducting material. As its
temperature more, it becomes a better conductor. But the
temperature at which the silicon permanently damages is

a. 100°C b. 150°C c. 200°C

d. 250°C e. Answer not known

fodlassrer, Fphs PWILLL  GHOBELSHH BN  QSIBTGD.  ShFHeo!
Gauliupleney HFHFMNHmBUTD DIFH FBHS SLHHWTHBSHI. DLETTED  6(H
Geuliuplensouled Feddbamer HIHSTOTS GFWeIPIILS

a. 100°C b. 150°C c. 200°C

d. 250°C e. alewL GxMwalsvensv

A rock containing the fluorescing calcite is illuminated by ultraviolet
light. Then, the colour of the rock seems to be
a. Violet b. Blue c. Green

d. Red e. Answer not known

el o 10(pD STELMIFLMLS OBTemiL  @hH LTeDB LBRMSHT 6N med
eliTaldalIuBSBE. IGUTH, uTedBUWISET HBWTSSH CHTEIBINIS

a. oagT b. euid C. UFDF

d. Heuly e. alewL Gxfweaisdensv




Raman effect is scattering by

a. Pure Solids b. Pure Liquids c. Pure Gases
d. Impure Gases e. Answer not known

BmoeT allenena)] 6T6leUmd 66MFSFHMED

a. gruienwmer FHLLeumpl sefled Haw @elFdHmed

b. gruienwiner FHraumiseied Bawd eflFdsHmed

C. SHTUIEHLOWITET UTU|SH6re0 HIBPD eellFHHBmed

d. gruiemwowBp amusseied Bapd @eflFdgHmed

e. alemL G flwalsvenso

On rear wheel drive cars, with the engine in front it is a common
practice to weight down the trunk in order to increase safety, when

driving on
a. Icy roads b. Muddy roads c. Hill roads
d. Plane road e. Answer not known

(PSLUSS  QUBbSHID  Oemewi el ghs5 0 QusE SMiTHerled
UTHISTUIBSTS SHeWIB SenD GMBLULGE 6hFH LUGHUled @l BoudBeTs
a. UGB FTEN6VH6IT b. GammiFgTemne0HeN

C. LDEMGVEFFTEDCVHGIT d. Fwgen FTeweLH6I

e. alemL OFMwalsvensv

Water drop in space is spherical because in the absence/reduced
effects of gravity the forces governing the objects are all the same
and therefore the drop.

a. Attains a shape having the least amount of surface area.

b. Attains a shape having the maximum amount of surface area

c. Attains a shape having the least volume

d. Attains a shape having the maximum volume

e. Answer not known

allewiGeuefulled FTlIy aleng G6e060THHET60 /  GHOBaUTS EHLILISHETT6V,
QuTheTHeflest  SHTeT  DMATHSH AlMFHEHD  FOWTH  B(HHHBSI.
B0  alewibeuaiulled  BidHgemwmerd  Osmemeaugeud  GQUBISBSI.
Sleeurm Gsmem eugeld eIBLILSHEIT6D, BHiTdhdler

a. ss Gommeuter Gumuyliy CHTERNIL algaIHmS GBHMBS

b. s oiFswrer GuoBUILL] CFHTERIL algalHmE BEIBS

C. NasH GmBEUTET LI(HLOGT OFBTewHIL 6l9aIHmNE JHRBMBSHI.

d. Ws SFHBWOTeET LGOS OBTIL  algalHmnd GBS BEI.

e. allewL  Oxflwalsvensv




ASSISTANT AGRICULTURAL OFFICER (17.04.2021)

Physics

1.

The wettability of a surface by a liquid depends primarily on
a. viscosity

b. surface tension

c. density

d. angle of contact between the surface and the liquid

e. Answer not known

QH UTLIeOL @(hH HTUHHTeL FJIOTHGD DI6N6Y] (LPSHETMOWITS FTThHHIeT6NS)
LIT&Hlenev

ugtopeleng

SILTH)

UTLUSEGSLD HTausbHB@GH Qe Bui 2 siten GFTGHmemtld

alewL G flwailsvensv

can o

IUCAA stands for

a. Indian University Centre for Astronomy and Astrology

b. International University Centre for Astronomy and Astrophysics
c. Italian University Centre for Astronomy and Astrophysics

d. Inter -University Centre for Astronomy and Astrophysics

e. Answer not known

IUCAA- afleir aifleurdsid

a. Indian University Centre for Astronomy and Astrology

b. International University Centre for Astronomy and Astrophysics
c. Italian University Centre for Astronomy and Astrophysics

d. Inter -University Centre for Astronomy and Astrophysics

e. allewL  OFflwealedensv

Assertion (A) : Since the moon is smaller than the earth, it has
1/6 of the gravitational pull of the earth

Reason (R) : So the man weighs 16 times less on the moon
than the earth.

a. (A) is True, (R) is False
b. Both (A) and (R) are True and (R) is the correct explanation of (A)
c. (A) is False, (R) is True
d. Both (A) and (R) are True but (R) is not the correct explanation of
(A)
4




e. Answer not known

amml (A): gharet yalewwalL SHAflwgl  eI@TUSHT0  DIH6T  FTLIL
géd yaluler miriy Fobghuled 1/6 wLmig wl GGLW.
smyerd (R): aeiBou  &BTH6T  FhaHgeled Lalemweal 16 OLHIG

6I6ML, GHEMBEUTES G (HLILITTEGIT.

a. (A) sfl gemed (R) seuml

b. (A) wBpid (R) Syewid sf eemmed (R) eesiugy (A)-alipe gfluimer
allend LD

c. (A sap geme (R) &l

d. (A) oppd R) @gewiG af epemed (R) ereiug (A)-alig Fflwme
a6 &HLD6V6V

e. alemL G flwalevensv

A rod has a mass of 100 g and length 1 m. Its radius of gyration
perpendicular to its length and passing through its centre of gravity is
a.0.2886 m b. 2.886 m c. 0.02886 m d. 0.2688 m

e. Answer not known

100 & pepuyyd 1 15 Hel(pd 2 mLw HwiB @afledT HemHHMBE
CFRIGHSHHTHOD FTLLTET MWD aPuITEaD OFe0ID SDIFMF OUTHHS
&S SiTID

a. 0.2886 15 b. 2.886 15 c. 0.02886 15 d. 0.2688 1

e. alewL G fwalsemev

Which of the following is incorrectly paired?
a. 1 astronomical unit - 1.49 x 1011 m

b. 1 light year - 9.46 x 101> m
c.1fermi-101m

d. 1 Atomic mass unit - 6.17 x 10-> kg

e. Answer not known

SLPHHENILUBMIET 615 SHUBTs CUTHSSUILIL (HeiTerngl?
a. 1 aumeilwed ojev@ 1.49 x 101115

b. 1 g@afwrem® 1.49 x 1011 18

c.1Qumd —1015 8

d. 1 gigmmbenns oeoE — 6.17 1027 A&

e. alemL OFHflwalevenso




AGRICULTURE & HORTICULTURE (18.04.2021)

1. The colour of light that travels through glass with minimum speed is

a. Violet b. Blue c. Red d. Green e. Answer not known
eflulled 6h®, MHIBID SHewiewimy aPWITE GoBhHSH CaussHdHed 6lFe0aID?
a. oG b. meud c. daly d. uFems e alwL GFflwaisvensy

2. Assertion : The hardboiled egg and raw egg can be distinguished on
the basis of spinning of both
Reason : The moment of inertia of hardboiled egg is more as
compared to raw egg.
a. Both Assertion and Reason are true and Reason is the correct
explanation of the Assertion
b. Both Assertion and Reason are true and Reason are true but the
Reason is not correct explanation of the Assertion
c. Assertion is true but the Reason is false
d. Assertion is false but the Reason is true

e. Answer not known
&Bul:  sger, Gods MmeausHd (PLedL  WBMID P60 (WL  BFeurenl UjD
FLOBBIOISH6T  DigliLienL_ulled GCoumiLi(hgSHeUTLD.

&Myewid:  Hlgent, Geousd emeushd (WL enLuler  FLdHHa  HHUUHMET  eLpev
WL el ulewen el SIHSLD

BBl LOBBID SHTJewd &g, STIewid SnBPiBaTer gFflwmer allendasid

MWl BpId SMyenid Ffl, gmpiBsTer Fflwmer allemdsoe060

FBm Ffl LeTed SHMFewID Hauml

BBl HUBI DLEOTT6L HMJewlld &ifl

alewL G fluwailsvensv
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